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Let P and Q be two distinct points on a circle which has center at C(2, 3) and which passes

through origin O. 1f OC is perpendicular to both the line segments CP and CQ, then the

set{P, Q} s equal to:

Options :

1.

{(2+2+2,3+B), (2-22,3-5)}

- llegedunias
{24242, 3~ 45), (2 =23, 3+ 5) R collegedunia



, (=15, 6, 1)

. (0,0, 6)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e M A A — A A A
leta=1i+j+2kand b =—-i +2j +3k. Then the vector product

(;+§)x ((;}x ((;—g)x g))x E) is equal to :

Options :
A A A
1 5(30:‘ -5 +7k

A, At M,
, ?(30:‘ —5j +7k

A At M,
, 5(34:‘ ~5] +3k)

A A A
A 7\34i —5j] + 3k
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Correct Marks : 4 Wrong Marks : 1
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11 11
If the coefficients of 1’ in (xz . bi] and 17 in (x - biz] b #0, are equal, then the
. X X

value of b is equal to :

Options :
1. = 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

< )

R ={(x, y) :max{0, log.x} < y < 27, %
is, a(log,2) " +p(log,2) +7, then the value of (a+p~ 2v)? is equal to :

Options :
1.1



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A=

12 |
_ J. If A~1=al4BA, o, B e R, Tisa2x2 identity matrix, then 4(a—p) is
equal to:
Options :

1. 2

2. 4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point (-1, 1) to the circle v*+ - 2r-6y+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :
1. 2



. 32 -1)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let C be the set of all complex numbers. Let

S,={z e C||z—3-2i>=8},

S,={z € C| Re(z) =5} and

S;={zeC||z—Z|=8}.

Then the number of elements inS; NS, N S; is equal to :

Options:
1. 0

3. 2

4. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (-1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options :
1. 5



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1
Let o, B be two roots of the equation x* + (208 x + (52 =0. Then o + % s equal to

Options :
, 100
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Correct Marks : 4 Wrong Marks : 1

:
Qcollegedumag
India’s largest Student Review Platform



Let f: (—E; E) — R be defined as

3a

|sinx|

(1+ |sinx|) ,—Ew-:[}
flx)=" b ,x=0

. m™
ec0t41/c0t2x C0<x< Z

If fis continuous at x =0, then the value of 6a +b?is equal to :

Options :
1 1+e

4 €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 202+ 2y2-2x -2y =1},
B={(x, y) e RXR | 4x*>+4y>—16y+7=0} and
C={(x, y) e RXR | X2 +1P—dx -2y +5 < 1?}.

Then the minimum value of |r| such that A u B ¢ Cis equal to:

Options :

:
Qcollegedumag
India’s largest Student Review Platfor: m



B 4 10

, 1++/5

2 4010

3 9
3 +245
4 9

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the fu]l-;;wing data :

6, ). 7,13, a,12, b, 12

37 : .
are 9 and == respectively, then (a—b)2 is equal to :

Options:

1. 16
2 12
3. 24

4. 32

:
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Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, (d_yJ =3y + 4y, with y(0)=0.
| X

2
If y[- 5 10392} = a log,2, then the value of « is equal to :

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If sinf + cost = 7 then 16(sin(26) + cos(48) + sin(66)) is equal to :

Options :
1. 23

2. =23

3. 27 .
' % collegedunia:



4. =27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
WM QI | =

o N TS

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

1Ix+7y+8=0 or 11x+7y—15=0

2.

3 2x—7y+29=0 or 2x-7y—7=0
1Ix—-7y—8=0or 11x+7y+15=0

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :

(=9

Z.Pnﬁ*Q
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R = R be a function such that f(2)=4 and f'(2)=1. Then, the value of
im0 =400,

lim = /% 7/ s equal to:

12 =2

Options :
1. 4

2. 8

3 12

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.1 & (2j—1)+8n
lim —
The value of Im Z (27 —1) +4n

is equal to :

Options :

3
34 =
1. Dge[zj

1+ 2log, [Ej
2. 2
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2
2 —log, [—)
3. 3

2

3+2log,| =
Rt

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The value of the definite integral

ar
i i
_%(1 + ™) (si114:x + c054x)

is equal to :

Options :
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Let a plane P pass through the point (3, 7, —7) and contain the line,

=2 y-3 2+
-3 2

. 1f distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sin

Let f(x)=|2 +sin“x
2

sin

Then the maximum value of f(x) is equal to

2

X
2

X

Response Type : Numeric

-2+ 4:052

C052 X

C052 X

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let F: [3 5] - R be a twice differentiable function on (3, 5) such that

F(r)=¢™ E(Stz + 2t +AF()L,

_ neP - 24

If F(4) = ———, then a+p is equal to .

@ -4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

X

cos2x
cos2x

1+ cos2x

, x € [0, m].
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- A A A

- 5 A
Let a=i+j+k band ¢ =

5 o -
a b =1. Ifthe length of projection vector of the vector b on the vector

the value of 3% s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) =logy (1085(1083 (181: -2 - 77))) be (a, b).

Then the value of the integral

_Lb sin® x P
(sin’x + sin®(a + b — x))

is equal to

Response Type : Numeric

A e
= be three vectors such that 3 x b = ¢ and

a X ¢ is/, then
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

, . ¥
If log,2, logs(2~5), logs [21 . E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
x+y-z=2, x+2y+az=1, 20-y+z=p.
If the system has infinite solutions, then a+p is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes Qcollegeduniag

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LetS={1,2,3,4,5, 6, 7). Then the number of possible functions f: S = S such that

f{mn) =f(m)f(n) for every m,n e Sand m'ne Sis equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), ]/E{Uf %] is the solution of the differential equation

sec y% - sin(x +y) - sin(x - y) = 0, with y(0) =0, then Sy’(gj is equal to .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers : .
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f: [0, 3] = Rbe defined by

f(x)=minfx~[x], 1+[x]-x}

where [x] is the greatest integer less than or equal fo x.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in
P and Q i equal to :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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